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1) How many 5 will you pass on the way when you count from 1 to 1007

1) 19
2) 21
v 3) 20
4) 18

AT : 1 (AP 100 1S I 5 M3 IR = 5, 15, 25, 35, 45, 50, 51, 52, 53, 54, 55, 56,
57,58, 59, 65, 75, 85, 95 =16 20 &

2) — identifies a cell in MS-Excel

1) String

2) Label

3) Name
v 4) Address

AT ; GDTT G @IS A1 Address 50Ta1 261 aBTh Peirs OPFd Qe P R T9EA
7RI 1 9B \STRENCT BT TP B0 I | SRIZATIRA, Al P A U3 SRS 1
ST TRFO T @R ; B2 378 B Q< [N IR0 @RI U3 AR\ SN 97 |

3) A mixture of 20 kg of sprit and water contains 10% water. How much
water must be added mixture to raise the percentage of water to 25% ?

SR
20 &R feraeet onfd @

= (20 93 (10/100)) = 2 @K

- PR oz =20 - 2 = 18 P&

QYA d9d R #ffd W 25 @Ist 3 1T W 75 @it |



IS,

= 18/(2+x) =3

=6/(2 +x) =1 [3 3T ©I5T ¥ ]
=2+X=6

W X=6-2=4

4) Find the figure of speech which is different from other options -

1) only choice

2) free market
3) peace force

v 4) golden years

AT : only choice -BYT “1%™, free market-J& ISR, peace force-3 <,
golden years-Giideil 924, So the D is different from the others.

5 1If 1+ sin® = xcos ©, then tan® =7

1) (x2+1)/2x

2) (x2+1)/x

3) (x2-1)/x
v 4) (x2-1)/2x

AT : = Sin@ = x cosO -1

= 5in20 = (X c0sO-1) 2 [T/ P[]

= SiN%0 = Xx?c0s%0 + 1-2 X x cosO x 1

= sin%0 -1 = x?c0s?0-2x cosO

= -C0S%0 = x2C0s520-2x cosO

= C0S20 = 2x c0SO -x? c05%0-1 [-1 KT ©Is d]
= C0S%0 + X% Cc0Ss?0 = 2x c0sO

= C0S%0 (1 + x?) = 2x cosO

5. CosO = 2x/(1 + x?) [cosO T[T OIS ] ......... (i)
WRIK, C-ATARZ 1 +Sin@ = x cos ©

= sin@ = xcosO - 1

= sin@ = x X (2x/14+x?) - 1 = (2x%/(1+x?)-1)

= (2x2-1(1+x2))/ 1+x2

= sin@ = (2x2-1-x?)/1+x% = (x?-1) / (14X?) .ccvvenneen. (ii)
QA (ji) A G (i) T TR O I 13,

sin@/cosO = ((x2-1)/ (1+x2)) / (2x /(1+x?))



= ((x2-1)/ (1+x2)) x ((1+ x2)/2x) = (x? -1)/2x
S tan® = (x? -1)/2x

6) The second and third team of a geometric series are 9 and 3 respectively.
The 6 term of the series is -

AT : 4R, GIRIDA ST 9 @ QIR U FLRT TGS
r = (OF *MAT M) = 3/9 =1/3

9Yd, IR, ardl =9

=ar=9.......... (i)

dRar3l =3=ar2=3

A, (i) A G (i) T TP R G5t I 1,
ar?/ar = 3/9

Sr=1/3

r O3 1 (i) 3 FAPACTING, ar = 9

=a X 1/3 =9

Sa =27

=ar®1 =27 x (113)°

=27 x 1/(243) = 1/9

7) If l10gy625 = 4, then x =7

1) 25
v

w N

)
)
) 15
)

I
A 2 O

YT » (\3UT (R,

= x4 =625
=>)(4=54
LX=05

8) The height of an equilateral triangle with a side 2 cm is -

v 1) V3 cm
2) 2V3 cm
3) V5 cm



4) 3V2 cm

Area of an equilateral

IIT -

1 :
Area = — x base x height

-

i

) | 1
\/ga‘=;><2a><h

~h=4/3a

9) The idiom 'hit the sack' means

v 1) to go to bed
2) to get a job
3) to reach the target
4) to solve a problem

T 1 AT Sack T REd TR Hit the sack W &0 #7101 | B3 e 6L W a).
@1, To reach the target AT “[CT STAGT BT To solve a problem &Y GFIcT
AT ST 311 To get a job O Il BIRAR 23|

10) RSO =St fRefed Srredd e

1) fogfog
2) ARG
v 3) IPRPT



4) TSI
AT : RPRGTS *RAsT AP e BRIRRT8 IPTRIDT

fre W RIK O W2 AT | A1 SRR (@Il Il <[, 2% I WP X, AR I
A @ WY AP I, (ST 3K IR PACET WA (PICAT ARG W 2P I | A K-
X 2R9R (B AR AP X7 5130 2 | (THd— "R OF O 1512 |

11) can suppress the inflammatory Cytokine Storm and plays a role in patient
management.

1
v 2
3
4

Potassium
Vitamin- D
Sodium

Vitamin-C

S— N N N

AT 2 58 2T, 0 Q3L PIFR T for1iaa fo-7 ocmed | @R i fovifad f6-1 wrerd 216
fSPEG 5108 \30S d1 UL FRIAT RPT A @IC5K BP0 AR A7 ATSIAF T WG SHIATRI
JICH 776 0O Q05T @500 MR | FobTid 6 XRIGR Q151 AfRE@1Y o1 IO Q3 FREFACR
fRPCa TG SRR I | BCET, ITTPIH HA Fob1Tad & Q7 57°9R-F I | I TBTOF IR
ATHATTICO SREFHT @ TS 21 | TORINGST TP THT SSE! AT AT T O NI |

12) The sum fo two numbers is 22 and the sum of their squares is 404 . The
product of two numbers is -

v 1) 40
2) 88
3) 80
4) 44

T :

SIES

QP 31T x AL QR y

(i) 92 0 7R, x2+y?=404

= (X+y)<sup>2</sup> - 2xy = 404



= (22)<sup>2</sup> - 2xy = 404
= 484 - 404 = 2xy
= 2xy = 80

- Xy = 80/2 =40

13) The saved BIOS configuration data is stored at -

1) CMOS
2) Cache
3) RA
4) HDD

I : BIOS G0 CMOS et 55 31 2 U3 T FMREICS I6TRK T 5110 3T
I |

CMOS stands for Complementary Metal-Oxide-Semiconductor. In the context
of computers, CMOS refers to a type of semiconductor technology used to
construct integrated circuits, including microprocessors, memory chips, and
other electronic components.

In particular, CMOS technology is commonly used to create the CMOS
battery-backed non-volatile BIOS (Basic Input/Output System) memory in
computers. This memory stores the computer's firmware settings, such as
the system configuration and the date and time, even when the computer is
powered off. The CMOS battery ensures that the CMOS memory remains
powered and retains its data.

14) C5TI ¥ M55 TP JROMIER RIS SRIAILP TAeTHR qeT o[k AP PR -

AT 2 TR XT3 AR AN RIS PRI TAeTHIR et k% 2fPFT PACR e
WOF A AR

15) The largest prime factor of (24)2 -1 is -
1) 19



AT : (13T T,

(24)% -1

= (2%)? - (1)?

= (24+1)(2%-1)

= (16+1)(16-1)

=17 x 15

=17 x 15 x3

e (24)2 -1 = 17 x 15 X3
QAT 2T TP B TP T 17

16) What is the probability that an integer selected at random from those
between 20 and 100 inclusive is a multiple of 157

1) 5/79
2) 2/27
v 3) 5/81
4) 6/79

AT : 20 D 100 21T G [ THALYI AR

=100-20+1=811

.20 (AP 100 QI Y 15 U7 SfT6P HAMACZ 2 x 15 = 30; 3 x 15 = 45
4x15=60;5x15=75;6x15=90

.15 3 SiFo 524 @z 5 01 .. facl iR = 5/81

17) A separate introductory section of a literary, dramatic, or musical work is
called -

1
v 2
3
4

epilogue
prologue
preface
perennial

N— N N N

AT : Prologue SR JIG(AR 23T @IxT| f5g, Preface X 336K Gl | Epilogue
T AR 1 Il | Perennial 2 AITgEl |

18) Euro is the currency of — European Union.

1) 20.0



2)15.0
v 3) 19.0
4) 18.0

AT : ORI DO IRARE CPITER QPP FARK dTd “SOET | I FOS I3 0K Gad | EU
TF Y0 GOT Y TIRIF Yvas (WP Q3 TdT 516 | SSETNT BRI T TaT 3GET SIRAPIA
S» OF 00 TR > TIGIR 20¢ |

19) A tap can fill a tank in 6 hours. After half the tank is filled, another similar
tap is opened. What is the total time taken to fill the tank completely?

1) 4h

2) 3h 30m
v 3) 4h 30m

4) 3h 45m

T

T AR 9 Tank *72T 6 IO

P AT 1/2 = WA (T 3 TTR

O, TT 1/2 91 TR/K 2R/ Similar &0 Tap

& acet A1t 1/2 W31 7179 2 0 Tap.

93d, 10 Tap =1/2 WX 9 TIE = 3 IO

2f6 Tap = 1/2 WX 9/ = 3/2= 1.5 TON

=1 90730 AT |

WO, (G ST SIS = 3 T0T + 1 T01 30 G = 4 761 30 A5 |

20) faed sifaeraETy [ @ BT aed -
1) PfcTeeTs
2) #3519
v 3) g
4) o AP

NN : TR B AT G SRS GHIR 0 QAT ST IR #7 MIBIA 2APTNG
A ASTRAT TP AR SIS (5982 d»ER) | I AYF FAT APTRIG 2T PGP HOE8
I | QT AR APRGIICR AT 2ATEDH (T ARGTS 191 | ', WAHITRR, ‘5T



Bon ATTPR SO 2PILS 2T 2 | STOFIER PTG P AP SremiiRe osiie
(GO TR \3 135 | 3R A5 T S0 TG |

21) The LCM and HCF of two numbers are 90 and 15 respectively. If one
number is 45, the other number is -

v 1) 30
2) 60
3) 15
4) 75

AT :

ST S, Q0 AT X T H 2T
= OICH AFALG. X 515712,

= 45 x WK 5 =90 x 15

< TR ST = (90 X 15)/45 =30

22) The Secret Documents of Intelligence Branch on the Father of the Nation
Bangabandhu Sheikh Mujibur Rahman, Vol 01 starts with the documents of -

v 1) 1948
2) 1950

3) 1951

4) 1949

T : Secret Documents of Intelligence Branch on Father of the Nation,
Bangladesh : Bangabandhu Sheikh Mujibur Rahman, is a 14-volume set of
declassified documents edited by Sheikh Hasina, Honorable Prime Minister of
Bangladesh. These volumes are a compilation of the files maintained by the
Intelligence Branch of Pakistan Government on Sheikh Mujibur Rahman.

Its first volume start with the documents of 1948 and ends with the
documents of 1950.

Source: researchgate and routledge

23) AR TEARPO WL AT IR0 2 -

1) () -z
2)"-Bz6
v3)..-bz



4)'-o

QT 1 AR TGAPO WA AT IR0 K .. - BT

SIS | (AATioTed A9 AFTe ST 1 (QATS ST
b T
) i : ) ITTE GBS AW I
B G | e T e
8 SOETAGT > . :
@ fa=a . - —
Y @ : ‘
) (TN ST $ e =
v I = —
» R
%0 e fos
T Bryfs fow X S e L
- T ow 00 0
50 p—

24) IR THTTSRAT \3 FRf61P BePE NG T o2 [ T -
) SRS A
) PIRPOI
) SRAGRAT
)

O

v 1
2

A W

T -

FUR THITHGIRAT \3 FRfGTP B ePE NAGH ST o2 TS |

5T J1T TN AT IT0H 2 PV BT R0 fed | a1 SROR ARRGNIR\S AT5 10 6T
ft 1B SRE (A 2T XTOTAIR FYRS! W AD 3 SfoomRfe a6 RoRT forerd siaiowr
Q@ T TsI |

@& 408 SID WY PR AR TR IR STACTR BI-T ST I6aT PR | JIRET
S ST R FaoTo\s A 93 5fom P3| (7 RAbar «ft aaih «esmomorT 5T

25) ‘Gratuity' T 1T Ao Ze

v 2) ol



3)
4) 5gR

AT : Gratuity <R ARG - AGoIEe \3 RO |

@ >R TR SREFCN @IAT T FAMETerR I7e $41 I O3 ARSI IS 2 | <19 26 QCPIE
fFgR T 1 O TR AP FAR B, A<= 267 1@ <1, 57 o a3
SRTRIBP | Q7 Y NP | AP0 ARG QP AR HATI@ o I |

26) Health crisis — antibiotic overdose is a burning issue

1
v 2
3
4

instead of
due to

in excess of
in lieu of

~— N N N

MY ; IRPIDCO PR JATS Due to I | e Antibiotic overdose I3 IR (due to
Health crisis 310 Due to J}R2K PO A< | AU Instead of WY KRG | In excess
of WY TIPSR @1 In lieu of WY #ARACH | IR W3 AFGIOEER F@mfoiia
IR TP T AT Q3D BOGGARP 357 |

27) 3K MY A PP d- OIS >R I A2

IR :W{%ﬁﬂﬂ&ﬂ@ﬂ%ﬁswwmgmﬂm@mmw-‘ R XA TS Ao’

28) A microcomputer or minicomputer is the controller unit of -

CNC
POLAN
AST
EPN

v
2
3

)
)
)
4)

AT : FAFTRNEOR 1 FAfAPARBTR 3 e 20 CNC. SRS fawaa (FFreTR
AP [T, AL FRTO CNC I ) 26 @RI SR Ser ey fawae e

29) Find the correct question tag: Let us — discuss.

1) can we?



2) don't we?
v 3) shall we?
4) do we?

TN : Imperative sentence 0 Let's / let us IRT ©F I 132 Suggestion (23[)
(@R Tag question 4 Shall we G571 @Fd8 Let's go home, shall we?
AP T3 BT TG AT BT A 13 T 572

30) Which is an antonym of ‘fantasy"?

1) mirage
v 2) veracity

3) figment

4) prefigure

AN : Fantasy W Qe 391 WK Veracity 9507 | WK, Figment O 35w I1 iigo
%1 Mirage QY FJIMHIT , FORDT | Prefigure QI #[536d1 71|

31) UBID is related to -

1
v 2
3
4

IT sector
E-commerce sector
RMG sector

Power sector

~— N N S

AN : Unique Business Identification Number (UBID) 3 TS 87 W7 Y A EG |
Digital Commerce Operational Guidelines 25 E-as 3 UBID U0 XA |

32) Haiku is kind of

1) Epic
2) short story
v 3) poetry

4) novel

M = Haiku QPR 1 Ppes Suonfd Fior | foai <1 fewo 9@ ¢, a 132 ¢ Suenfd
THITS CRTS e @6 Q ARG Y i1 9P §Z0 00 Fad OR 24P 31 A |
TN 239 QTG T o1 231 G IRpyTtes Saft RS AP | RIS Qi 2R 30T AR
Ty 23 i 2|

33) A lucrative career is not very easy to come — .

1) up



2) out
3)in
v 4) by

AN = IRPIOCE Come by Y N3N | TASR 2M3T T 'come by I TR Come up Y
GEG 2071 Come out TN ARG 2331 | IR T3 TP (ST / JRG STRCSR. 23T I |

34) GfeTe W AR (@ SR o ayd -
1) [T
v 2) TF1 B \3 FIFMsT
3) faeesd
4) <153

AT : TS e A1 IS SMFOTOII0] ¥ SE3R \3 ¥ THASIT (R009) | TR 'TeTesd’
(00R), '2TBY' (3000) UL "W (S»»R) AT B DV AGS |

35) Which is not a type of scanner ?

1) Sheet-fed
2) Handheld
3) Flatbed

v 4) Daisy-wheel

AN : Daisy wheel T foroR | (B3f& 236 UF (AR FaT 2YREF T Y90 S GRIRCE (BOT
BICTE Te TG SRR aK1 Se1iio 2%e | ff SiRRias GRefgep JeoT [T TrRoRITIRR
A DA SP-HICAR TS 5 {5 (o P, 5 73 (W o @1 mosifors Rfdecmsy s)-sifdo
T3 SIS IRER I, A0 FURTO »ofb 79 e |

36) "o M Q STFVR AT T, BT AP FAT IR | I3 (T G BHIAT -

1) PEATHT

v 2) ORJIbS
3) POBT
4) THPOIIHT

JIIT = (T IChT W'ZITRFHT AR W%{ﬂﬁ @@ﬁ(" JOIK T8 [ VIP WOIKTDT AT | ©IK]IHT]
g1 SHI3 ATH 2RPCER | SRATGRK PO 91, fAGRI T[T GO el oye 21|

37) Which one is the result of the output given by a computer ?

1) Data
2) Intervention



3) Instruction
v 4) Information

T : FPRBTR A Data AfF IR S TS T T W SITaT 1 <113 ©13 By

1} 1 3900 (Information) 27 QTG 6T, T1 30T TRT, I24 BT A, (@41 IR, 2T T |
e, @Td TR ATFATSTS (OO (Data) O3 I | PRNSOIRR ORI O T52 5y
ARFITSTG (61, IR B fSfs I @1a fafte foras i am)

38) What is the unit digit in the product 84 x 59 x 13 x 767?

=

w

v

~ N
o A~ N O

AT : QYT FLATSER AP FTAT TFS R SR (GIeT (GeT 3 e Jeo1 I 3Fds8
4 x 9 = 9F FA T 6

3 X 6 = JIF FAN TF 8

5 6 X 8 UT QTP A TF 8

39) Which one of the following numbers can be removed from the set
$={0,2,4,5,9} without changing the average of set S?

1)5
2)0
v 3)4
4) 2

I : Sum of numbers of set S = 04+2+4+5+9 = 20
Average of S = 20/5 =4

After removing one number average of 4 numbers is also 4
So, sum of reaming 4 numbers = 4x4 = 16

So, the removed number = 20-16 = 4

40) If x + (1/x) = 3then x- (1/x) =7

v 1) V5
2) V13
3) 0.0
4) V7

AT 2 AT S, (X - 1/%)2 = (x-(1/x))2-4 x x X 1/x
= (x-(1/x))? = 3%- 4



= (x-(1/x))? = 9-4=5
S (x-(1/x)) = V5

41) The Archeology Department is working to declare as a preserved
antiquity.

1) Porir Hat Bazar
2) Porir pahar

v 3) Tomb of Pori bibi
4) Shah Porir dwip

4 : The Archeology Department is working to declare the Tomb of Pori Bibi
as a preserved antiquity. Preserving and protecting historical and cultural
sites is an important task undertaken by archaeologists and heritage
organizations to safeguard the heritage and history of a region or country. By
declaring the Tomb of Pori Bibi as a preserved antiquity, the Archeology
Department aims to ensure its conservation and prevent any potential
damage or destruction to the site.

42) Make indirect: The boy told the shopkeeper, "Can you give me a candy
please?"

1
2
v 3
4

The boy asked the shopkeeper if he can give him a candy?

The boy said please to the shopkeeper and asked to give him a candy?
The boy requested the shopkeeper if he could give him a candy?

The boy said to the shopkeeper if he can give him a candy?

~— N N S

I : In indirect speech, we typically use reporting verbs such as "asked,"
"requested," or "inquired" to convey the original statement. The verb "told" is
replaced with a more appropriate reporting verb, which in this case is
"requested." Additionally, the verb "can" is changed to "could" to express a
polite request.

43) The 2021 Nobel Prize for economic sciences has been awarded in one
half to

1
2
v 3
4

Joshua D Angrist
Guido W Imbens
David Card
Maria Ressa

~— N S S



AT : 20D A WYATG @NFH *RFR (A2 (BRGT IS, (S 76 arefsrt 3 @3cwT
TS 30T | (GRow I16 15 WYANRKNG TR Ty A7 WTEFS \3 3RS PRI 5TRE
fACT SRR Sy 3 2RFTH (0|

44) Computer Monitor is also known as -

1) GUP
2) bvU
v 3) VDU
4) GPU

AN : VDU 130 Jfdbd 251 9Tl Xerapiae foomie oo or fowe e aait 4, sfes
W13 B SRIHT @ oFa TR UG O TGS 3 | QPfb Jfdba 1 <M1 oo fBswa 3816
(VDU) aicas «iikfpw|

45) The next number in the sequence 3,4,8,17,33, ......... is -
1) 60

2) 54

v 3) 58
4) 56

IIT -

ST LA = 3 T RN =4=3+1=3+12 O Y = 8 =4+4 = 4422
Y AT =

8Y YN = 17=8+9=8+32 T YN = 33 =17+16=17+42 5
33+5=35+25=58 I{|

46) The ration of two numbers is 7:4. If 8 is added to both the number ration
becomes 13:8. What is the smaller number?

1) 38
2) 52
3) 56
v 4) 40
EIEU1
47, a0 FAT 7x a3 WO LD 4%

AHACO,

(7x+8)/(4x+8)=13/8



= 56x + 64 =52x + 104
=4x =104 - 64 = 40
L X =40/4 =10

WOAT, IO SR = 4x = 4 x 10 = 40

T = XK /ROT 2%/ Nl , WP , BT |

48) Change into passive voice: 'People believe he is a scholar.'

1) He is a scholar as people believe.

v 2) He is believed to be a scholar.
3) He is believed scholar by the people.
4) He is being believed a scholar.

4 : Acknowledge. assume, believe, claim, estimate, feel, find, know,
presume, report, say, think, understand 391 Verb ST Active XS Passive
faame faucs = W@ | Active: Subject + think + indirect object (IR&<5F) + to be
+ direct object. Passive : Indirect object + be verb (tense QJAIK) + V + to be
direct object + by + subject Object form. @&d¢ Active: They reported him to
be a spy.

Passive: He was reported to be a spy by them. GR &1 SR w aar o
Passive XT3 He is believed to be a scholar by people. 941d By people & &I
IS WP b) @ 3T 6 N (@1 T | PR WS (AP OIP Tl A T |

49) Find the value of k if (x-1) is a factor of 4x2 + 3x2-4x+k.

1

3
3
2

=

[
W N

AT 47, f(X) = 4x2+3x2-4x+k
9  (x-1), f(x) QD TP A x =1 TA f(x)=0 TJ|



WAR 4(1)2+3(1)%-4(1)+k = 0
= 4+3-4+k =0
S k=-3

50) In the Mujibnagar Government, was one of the members of the 'All Party
Advisory Council'.

vl
2
3
4

Manoranjan Dhar
M. Mansur Ali
Yousuf Ali

MAG Osmani

N— N N N

oo

AT : Manoranjan Dhar Y% S §iogra WX1siza 34 | f5f iRy s/ Somwst
ST TS WRGS M AT SR ([(TOFAId SREAT SR S BIeR ot foceta | fofd
Y%A S ST IR JTT0 T 2d | Y90 S AU STORI 53 [o-T5Cd WIN3AT
SR FCATRIE ol 37¢57 5757 faRif 29 U2 590 SER S JT6 IS SRPIRK 2,
3w 3 IR Rewe 88wy ame @A)

51) A sum of money at simple interest amounts to Tk. 5,600 in 2 years and
Tk. 6,500 in 5 years at the rate of -

T : (5 IR ST = 6,500 TIRT) - (2 IR ST = 5,600 TRPT)= 3 T2 SIS = 900
1T

1 I&H S = 900 O1PT

. 2 I2R S (900 X 2)/3 = 600 TRl

. A = 5,600 - 600 = 5,000 TP

-~ (e 5,000 DR 2 I2E 57 = 600 T

.. 1 PR 1 I8 5 = 600/(5000%2) TIT

».100 TIPH 1 2K 3 = (600 100)/(5000x2) = 6 TIpT

52) — has set to build the largest banking network by providing financial
services through digital post offices across the country.

1) Trust Bank

2) IFIC Bank

3) Dutch - Bangla Bank
v 4) Bank Asia



AT : (PTG (ATBTE TMBLCED IR I TP G M LI (FT TSt e fpe 516
FACZ AT QR | Q3 FGLT FTAT \3 ARBGP- TOIR3 TG TG AMIFL @5\3TE SITWE
ANPIT | Td U3 IRATRIP RN WNSOR @RI AT NP IR BT [RSIR S0
TS (PPBTET WO BCEACHR T WA R 2R P | FTAT (@5 \3TMRPL WLOT-ITREATT (6
WRPGER 3 TN (AT Wiy e fFe e amasory et sk ced fRefReTe (ot wiesy
BTG fAcTst @ b TSR ¢oof FETETTE (9Pt AfRPCR T WIS GRT 2MTd P |

53) 1T SN NPT I5dT PR -

AT : O RS IO 'Linguistic Survey of India’ I3 2196 A0SR AU ST AIREAT
CEK BN o TNEATDE OE | 9270 O [R5 Q78 (SEs fPAS IR ORI A7 6T
IEA|

54) In COP26 summit, a stark message, "We are digging our own graves"
was sent by-

vl
2
3
4

Antonio Guterres
Greta Thunberg
Scott Momfson
Sheikh Hasina

S~— N N N

AN = TEACSTH T GENCS AT XX VT I SERTY S (FA-Y) OF | “TATID
A0 P99 YBT3 APRIP QPTT TIED AR IR PR, AN IR SUROH
FIDA |

55) "One man in his time plays many parts." is

v 1) William Shakespeare
2) Thomas Kydt
3) Robert Frost
4) Ben Jonson

74T : William Shakespeare a3 Ruims 2 Quote 'To be or not to be that is the
question' is the beginning of a famous soliloquy of Hamlet'; 'Frailty the name
is woman'; '‘Brevity is the soul of wit'; There are nothing either good or bad
but thinking makes it so'; 'Neither a borrower nor a lender be; For loan oft
loses both itself and friend'.



56) What is the largest number that divides 84, 144 or 36 without any
remainder?

1) 24
2
8

v

w N

)
)
)
)

N
o =

14 = To find the largest number that divides 84, 144, and 36 without any
remainder, we need to find the greatest common divisor (GCD) of these
numbers.

The prime factorizations of the given numbers are:

84 =272*3*7

144 =274 * 372

36 =272*372

To find the GCD, we take the highest power of each common prime factor
that appears in all the numbers. In this case, the highest power of 2 is 272,
and the highest power of 3 is 3™ 1.

Thus, the largest number that divides 84, 144, and 36 without any remainder
is the product of these highest powers:

GCD(84, 144, 36) =272*371 =4*3 =12.

Therefore, the largest number that divides 84, 144, and 36 without any
remainder is 12.

57) — won the first-ever Silver Medal for Bangladesh in Asian Archery Mixed
Event -

1
2
3

v 4

Jahir & Purnima
Ruman & Sana
Atonu & Dola
Diya & Rubel

~— N N S

I : AMRATCPT DB TR PO IRFIHART 2398 AR WBTR 5TRomaXior-302) 3 o7
frca RS o 3rec® For forarg, AR e |

58) One of the factors of x*+x2+1 is-

v 1) x2-x+1
2)x+1
3) x2-x-1

4) x?+1



T 2 (3T A, X*+x2+1
= (x2)2+2.x2.1+12-x2

= (x241)-x2

= (X24+1+x)(x2+1-x)

-, QBT BT (x241-X)

59) Find the sentence that expresses a negative comment:

1
v 2
3
4

| know that he has to cram tonight.
Shobho is so flakey.

They are trying the knot soon.
Joyee is a whiz at science.

~— N N

A : T b) 9 So flaky TR 3R3 AEPT 2ATOeT STGA 0T FACZ | T Negative T
T, O3 53 B6A b)
AR Y3 GG Y3 IJETPT-2TTAT ST |

60) Indian government has awarded 'Padma Bhushan Award-2020 to the
senior diplomat of Bangladesh

1) M Hossain Ali

2) Humayon Rashid Choudhury

v 3) Syed Muazzem Ali

4) Fakhruddin Ahmed

AT : BRO [RF FRET 3P ETAR G CRITCSE D I SIS S} JRCG
2011 "o/ RTH' S0 EA b ATSH 03D A | Q BI01, AFGRAR SRAIAR S T, JdTrye
TP N ST GO | (&, ICAA TS G WA KR R FArSwT Ao
"R 2P AT ST 2 | AR "I UL TR TUTFCH SR DO \3 5 ST @R

|

61) BSEC has decided to form 'Subarna Jayanti Fund' under the patronage of

v 1) CMSF
2) BIDA
3) EBL
4) BSB

I : S{oTEIR BRPTT FAC 1S FNPATTE FET BIRTRSHE TG (FHRIFIIIT) TS
OF AAY | CGRITTR HRCE CRETAIE TGO BIGH (AP 3ACGHED DI -
IR (TR T 2IFFSI Soo @G TreT Rfemst 31 27 | TTorR ¢o 72395
THEACT PIIHISAT TSI S{BTEPOR \3 WRHR GG FIEASTECOA IRBI9ER Y0 I2J




I \3 SBF (@ OITPTGT 5K T3 DTG AT ORI PG 510K BaTs (@] T |
@ ORI Broiiee FIagasiae AP ¢o @1t b1 15K i@ Rifdas 3@

62) In the short-run, which of the following 8 always gets smaller as output
increases ?

1
2
3
v 4

Short run average cost
Average variable cost
Short run marginal cost
Average fixed cost

~— N N

Az In the short run, the correct answer is D) Average fixed cost.

In economics, the short run refers to a period of time in which at least one
input is fixed, while others can vary. In this case, we are considering the
relationship between output and costs.

A) Short run average cost (SRAC): This cost is calculated by dividing the total
cost by the quantity of output produced. In the short run, the total cost
includes both fixed costs and variable costs. As output increases, the total
cost may increase, and therefore, the short run average cost may or may
not decrease depending on the magnitude of the increase in total cost.

B) Average variable cost (AVC): This cost is calculated by dividing the variable
cost by the quantity of output produced. In the short run, variable costs can
change as output increases. Therefore, the average variable cost may
increase, decrease, or remain constant depending on the behavior of the
variable costs.

C) Short run marginal cost (SRMC): This cost refers to the additional cost
incurred from producing one additional unit of output. In the short run,
marginal costs can increase or decrease depending on factors such as
economies of scale or diseconomies of scale.

D) Average fixed cost (AFC): This cost is calculated by dividing the fixed cost
by the quantity of output produced. In the short run, fixed costs remain
constant regardless of the level of output. Therefore, as output increases, the
average fixed cost will decrease because the fixed cost is spread over a
larger quantity of output.

Thus, among the options given, D) Average fixed cost is the correct answer.



63) Choose the correct spelling -

v
2
3
4

Pedestrian

Pedistrean

Pedistriean
Pedistrian

~— N N S

AT : Pedestrian WA BT ; 2T &G 5T #fA |

The term "pedestrian” typically refers to a person who is traveling on foot,
usually along sidewalks, footpaths, or other designated areas for pedestrians.
Pedestrians are individuals who are not using any form of motorized
transportation, such as cars, bicycles, or motorcycles, to move around. The
term can also be used more broadly to describe anything related to or
involving pedestrians, such as pedestrian safety, pedestrian rights, or
pedestrian-friendly infrastructure.

64) — allow the user to automate frequently used formatting settings.

1
v 2
3
4

Task-pans
Macros
Add-Ins
Merges

~— N N S

I : QBT TP 2 RO TS ) -1 Ao B0 et IR TT0MT FACO AR
W3R PRIBICO Wfb 5¥°9d I Repeated FTS I1 I |

65) The shortcut key for activating 'Reference Tab' is

1) Alt+ W
v 2)Alt+ S

3)Ctrl + S

4) Ctrl + R

AN : Alt + P 21 FIi5A, *PR QRITod, TG U2 Cif3 e $1ay 3400, Tames
TR YEd | Alt + S R 9B SR, SmEIeT 1 Bafod Qi GRS Qs FA0, @OIRH
TIRIG A1 Alt + W 930 T3S fo® 31 @10 @ iAo, @@ d R @ 31 e bazd fos,
GG TIRIT e | rafa T Sl Git 00 “ME QI8 TICACT Q1P BT
ARBTAA FICO AT |



66) Translate into English: RERI#T FRIAT ©IRATS TGN AT GG |

v 1) At present, the Corona virus has come under control in all over the
world

2) The Corona virus has been now come under controlled in all over the
world.

3) The Corona virus, at present came under controlled in the world
4) The Corona virus is now under controlled all over the world.

A : The correct answer according to grammar rule: At present, the Corona
virus has come under control in all over the world

67) fFaR s cmest s1ido Rowca 72818 e -

M ; IR <=0

RCRRCo1s Q M@ @I5TR (0T TR IR TRBT | GERACAR ASNS (TR AT AT O, W 6 T a1
@D ?

TFIT B @RICOS (TACS (AT WP DI T I |

TF-RemT3 Gy ey @3 | PRI Rt S Proi?

agoIfdPol @RITOS (OGP (B T I (513 |

68) XTI AT2ATA IO “AEAFH SMd” FIROR FAR TG (TR0 AT -

AN : XTTER A2 IO “HEAFR A7 PRGN FAR TSI FIIies X0 FHrRozRT st

69) In MS-PowerPoint, the slide sorter view displays slides in -

v 1) thumbnail form
2) large icon form
3) list form
4) detail form



AT : WG GIOH GG WMAR Presentation 13 53 ARG ST Tqe TSI FHIGIA,
AT 27Pd R | AR DRGSR 5130 TR Ao X ARG O "o 521 | Aieifa
&Y 7 I AR RGBT QT Tod TREE Gd WO -G T[T WAR 0 ST
T (ST 5110 B0 ReTsIafiey Q1st FReo 211 |

70) facs @b TSR FROHRK TEGS -
1) SifoeRy
2) a2y

v 3) “ipTfey
4) A

AT : AT51eT ETPNRoR PTT KT | TR <Ko CTIP 7517 dad ol Ee P | TUF A0D
AT, PR ZOT II0T, TG B \3 WRodT] HR AT TCE | #1511 IpTeiem w5 R afera
TR AT | ST 2rrE Qi SR foretd | w1 IR #AT5 1T R I R Airfs ordd 3 |
PRI AT 22 SAfR PRISCR ABER SIePT <T@ @ 5 ATBHA-GRI SIS 2, O FTo
JIGA 511 (U3 IO |

71) Choose appropriate word to join : 'She was waiting for a taxi. She found
car broken down. '

v 1) when
2) an
3) asif

4) yet

TN ; TS TR Gy SweorsT aifecetd | fofd aracetd sieft o] a8 = fveem | 3 «xca
70 IRPIIRXTE Join Ao Conjunction 26T ‘when' Aace 2| O3 53T BB W a).
AP WA T fofd maeTa @ O SIS “@TeiR wve 20g. v fofd TR Gy aweersst
AR |

72) According to one of the most famous sonnets of Shakespeare, "Shall |
compare these to a summer's day?", the eternal beauty will

1) be more stunning in course of time.

2) become more colourful than a summer's day
v 3) live as longs as the people read the sonnet.

4) be more attractive than golden face.

AN : WS Shakespeare I3 W3 Sonnet 53 B33 GRew SR 7@ BoiMd Qb YK,
ToMd 210 JTT o[ | T The eternal beauty will live as long as the people
read the sonnet.



73) facsa ff FTS dowr et AT 21 /TR A1 S T -

AT 2 PTG TOFE ST 2T PRI I SoAEfs

YU I IRFATCHT TP PGP IPCT 2T S[FT M1

Y28 H(E ITPTO! RPIRMTETT FHP "MAGHT 7P F[FF T AT
YHYUD A ITCRG! egRmye (3 TB-o0 [Bisr e I@E|

74) Recently the government has announced "The President's Award for
Industrial Development 2019' to recognhize — companies.

1) 20.0
v 2)19.0
3) 18.0
4) 21.0

AT 1 203D S S»fT g afodTac 'caf3iwcta R Saud SR R-205%" 2 1d I 2 | TR
205¢ ST (A X TR I3 “R[FTH 2M1d P ATKG |

75) The 'Actuarial Science' is associated with -

v 1) Insurance

2) micro finance

3) space technology
4) banking

AT : Actuarial Science' 28 Raad QBfb XM @A 5196 \3 AR ANMER “rafosigz
IR IR I, AR 3 Q@ TRFTE PR JhF Ao 31 7 A |

76) Identify the word class of the bold faced word: The dark skies cleared and
the sun shone dazzlingly.

1)

2) adverb

3) Adjective
v 4) verb

141 : The word "cleared" in the sentence "The dark skies cleared and the sun
shone dazzlingly" is a verb.



Verbs are words that express actions, occurrences, or states of being. In this
sentence, "cleared" describes the action of the dark skies becoming clear or
free from clouds or darkness. It is the main action that took place in the
sentence.

77) The formula of antiviral COVID19 oral medicine, '‘Molnupiravir' will be
shared will the developing countries by Bio Therapeutics and

v 1) Merck
2) Moderna
3) Astra Zeneca
4) Pfizer

AN : RCI 24d 77 N FRIATSIBRIR BIRED Weaid Mg TEAS | THANET \ITY
AFOPIA ARTDTA T, XM 1T (BT (IFIHG) 12 RSP ARG BFt-97 o]
PRTEATORAR HfFesrr afb3 gra AT 2F \ 394 | \394fo7 ard s |

78) If the rate of interest is 10% per annum and is compounded half yearly,
the principal of TK. 4,000 is 3/2 years wil amount to -

1) Tk. 4630.00
v 2) Tk. 4630.50
3) Tk. 4632.00
4) Tk. 4631.50

0T -

W B, 3Fse C = P(1+ (r/100m)™"

[Q4TCA, p = OB ; C =BT = ? 5 r = LW ; M = I2R- @ PR 5 AT ; N = I2A ]
= 4,000 (1+(10/100 x 2))2*1>

= 4,000 (1+1/20)3

= 4,000 x (1.05)2

= 4,630.5 x 1.157625

= 4,630.5

79) fate1 @ Ao =0 @1dra
v 1) Rad



2) v
3) Ro=M
4) “m

AN : R o 5 | g, ROM, 9, oot @ o2 1 P

80) The total surface area of a hemisphere of radius r is -

AT 2 (SRR AT A GTAPA G I 4nr2 g ORISR CHFawe] = TSP
CFAT + JCOA CFAPE 13, ARY AT IR 067 Base 3 91 THCSTTETP ICIZ 13 A7
SIC OB CFAP (151 PACO 2 = 4nr2/2 +mr 2=2nr2+mnr?

[@T58 (SRR WP PR fibd TP QID G COIK 2 | ST AR CFape [l
JACO (ST CFAPCER DAL Y 8 CFIPANS @T5T PO A |

81) BHPH > — > BTAN - Q [AFICd IN

I : A TCs Q1SN GO T U1 ORET | (HRICAR WIToNS (IS AT AT O, O] 5 1 o
@I ? FFPTA FT QRIS AT TATO ARPPT BT 3T AT | frT1-Riomag oo ¢ed @3
T I ©F Frerd? (Ndsefarer @RITGS (G (B3P TE I 51g |

82) 'Kids Clips' a children-friendly content is developed by

1) Amazon

2) Cartoon Network
v 3) Netflix

4) You Tube

AT = Reamcax 31 7531 3@ @Ol fopora 5ot oo o ad @1t oo\ Revr anst
IRE. (IR G |



83) The organization threw an epic dinner party yesterday. The underline
faced word means -

1
v 2
3
4

ordinary
amazing
colourful
phenomenal

~— N N S

T : BT Threw an epic dinner party QY U361 QTSP N o | ©R 53T T
WA b). 78, Ordinary TSR ; ST Amazing WY SO ; fTos<s |
Phenomenal T R | TR T3 SToITe A0 ARSI B bHeIH (Grewd O #1fe
PR |

84) If tis an odd integer, which of the following must be an even integer?

1)2t+ 3

2)4t+1

3)t-2
v4)3t+1

0T A9PTT d) O AE, 3t +1=(3%x3)+1=9+1=10
QMY |

85) When bent in the form of a circle of radius 28cm. If it is bent in the form
of a square, what will be its area in cm?2?

1) 3872
2) 7744
v 3) 1936
4) 5808

AT ¢ (T W, BRIV A1, r = 28cm

. SR04 <M, 2nr = 2 x(22/7)x 28 = 176cm.
W1Yd, J0a 1R I I510Fcax #1RfE 5781 |

051 QA2 = 176 /4 = 44cm.

- f & oFawe = 442 = 1936cm?

86) The last international conference attended by Bangabandhu was

v 1) Commonwealth Conference
2) OIC Conference
3) UNESCO Conference
4) NAM Conference



T 2 5»Q0 A AP FIC SRS PHATAY SR AT FCIE IR
AYAINK] FOOT ARV P |

87) The area of a triangle with sides 3cm, 5cm, 6 cm is -

AT : FTereR ST

S = (a+b+c) /2 = (3+5+6) /2 = 14/2 =7
5 CFAPA = V(S(s-a)(s-b)(s-¢))
=V(7x4x2x1) = V(4x14) = 2V14 cm?

88) The inverse of f(x) = 2x-1is -

1) 2x+1
v 2) (x+1)/2
3) 2x-1
4) (x-1)/2

AN 47, f(x) = y Q3R 2x -1 =y
94d, f1 (x) G PR O x @ y I7 31 ARSF1o7a iag

2y-1=x
=2y = X+1
Sy = (x+1)/2

89) According to the NBR, the highest taxpayer 2021 in the "Senior citizen"
category is:

1) Nuruzzaman Khan
v 2) Golam Dastogir Gazi
3) Mohammad Kamal
4) Syed Abul Hossain

AT ; TREFRAT TIPS AR 7y RO feies PAo1s1R qcacz <1150 ek Bifoce,
(ST OF TaT20 Freral, AfeId!, IR 3 TF | TR WK B T (OPTIR ey dIo1siR >ofbs
ISR, @OACSIN, BTFR, SRIAME, RIS, AR, B, R, agd Fmmer,
UCETRING, RS dol-Oiacadl, Rl (STIp-5TiRIPT) Q32 DAy |




90) The area of a rhombus is 96cm? and the length of one of the diagonals is
16cm. The length of the other diagonal is -

1) 18
v2)12
3)9
4) 6

T+ AT T, IR CFATA = 1/2 x IR STFA
AR 1/2 x 16 x W I = 96

= WK 3T = (96x2)/16 = 12cm

R PR TS 12em.

91) The electric pole casts a v3m long shadow on the ground at an elevation
60°, the height of the pole is -

v 1l)3m
2)3vV2m
3)3V3m
4) 2v3 m

T : To find the height of the pole, we can use trigonometry.
Let's assume the height of the pole is h meters.

Given:

Length of the shadow on the ground = v3 meters

Angle of elevation = 60°

We can set up the following trigonometric relationship:
tan(60°) =h/V3

The tangent of 60° is V3, so we can simplify the equation to:
=>V/3=h/V3

To solve for h, we can multiply both sides of the equation by v3:
=>V3*V3 =h

=>3 =h

Therefore, the height of the pole is 3 meters.

92) If sec (x -30°) = 2/V3 then tanx =?

1)1

2) 13
v 3)V3

4) 1V2



R &

T ANE, sec (x - 30°) = 2/V3

= sec (x - 30°) = sec 30° [ " sec 30° =2/V3]
= X - 30° = 30°

= X = 60°

= tan x = tan 60°

S tanx =vV3

93) The President of — will attend the Golden Jubilee celebration of
Bangladesh's Victory Day.

1) Maldives
2) France

v 3) India
4) Sri Lanka

AT+ FEOR TAPTOIY QI FATOR KA TACF U TT6 203D HIE §'RCR RO TIPI
W SROGA ALTTHa & @1 | f5fd Qv 716 203> R -1 FBRAGE 2rpaar Srara 3@ |
@, AP AT BT ISP TIPR T S FI6 |, FTRICoR Igoifs 312
CHTRICER (AT TP WA SQ T 5 @R (ARG R *id Sroy 3 916 Q3R QoI
ALTITG! (ETICE ORI TTPR WA 0 FCE |

94) Most of the tea plantation workers speak in

v 1) Telegu
2) Chak
3) Oraon

4) Tipra

I : four distinct groups of Tantis, speaking Telegu, Jangli (a form of Bangla),
Sadri and Oriya, were brought from the Indian states of Andhra Pradesh,
West Bengal, Jharkhand and Orissa, respectively.

95) Parents should not pressurize kids. They must not choose friends for their
kids &mash; .

1) as well
2) too



3) through
4) either

A : Negative agreement @ YRS SRR Neither (without 'not') T[T, 'not' T&
'either' IR T | BB W d) X7 TG | IR W3 FISQCREE 5191 2157 FAT D 7|

96) fatb QM I=JIR AR 7218 a7

S
2)@@%91
3)%<>f
v 4) T
AT : SN SRR FT=ofd ST IR SRR S 24T A, W B SRRITGR ST

I | TRRITGR S @IS TR WIS TSI DS 37 | STAAT, P50, ALE, WO
BONM AT Y TRRIGR ST 2 | (THAS “PIC (W) T3 TR 2FBIS = TFATO

97) 1T TR IR ‘-AT] oOR @ Fof (AP R0 20002 -

1) ATy

)
) AT
)
)

N

3) ey
v

o

AT+ IREAT GRR IRAG -] AR (T 9T (AP KA AT - Hielh

98) R <R TNHA NP PROR Sy AT -

1) QAP GO

2) MAP-AOIPL WG
v 3) 35K storaer

4) R TGO



AT+ TP XTI PN PROW Ty AT TSP STOyofdPT |

fasei =roretia FCha wits fefarea o7, sfara 3fa, sigirea 37 ¢ Ft5a wirea sfsid e e | dom st
FICHA HTEE FA0HE 24T FACS 203 (I TS a2Ia T 2042 7A@ (441 @ (0 FM0BZ (T G2 F{03a Fd
o7 afbay, a¢fife, fafen =staran | org'ta @2 weite sfacra Semreita Freita biee saa? o) o a1 3w 5
B @a1 AT GTSIT — (3) AHA FEWE TIAE 29/ 0% (ATE ©28¢ /8% HANFAA WX 204 —<HIZ AL 775
A THAS | (2) GG AMHA FF LT FIGAR Svbo (ATF Sdbd HATHA 4 RIS TR0 6l (7T Z0A 1 (@
e SRR TR LA G (FCA PR, FEFARI (TS FRILY AP FCACEA, FE AGT wes firea
sifer <fae! forare e g 31 frea »faate sifearss, a1 Do AReta, a1 53 31 | A5 IS (I
AT 14, 992 -5IAG TEAA I T (<7 W P2 2 AR | Iwd Aoa Oifers! (A0 am fre
(8) ACHA WHTF FLAFIO AR - SCHIET ZCATRE | Dl (G2 ST YT ZARCA SIMAe FHA 14 A0 F!
(AT 2/ | (T SV TITE S89¢ (ATF S>80 FITAT W04 2H) |

99) Aumia did better &mdahs; in the examination &mdahs; any of her
classmates.

1) much, as
2) still, even
v 3) rather,than
4) far, from

A : AT Better AP TR WK HICA R 7 9T #A15Z | B2 IRRIHT Qe T
“than” "R, FRT Comparison U1 X< Classmate ¢ S | PR A3 2IPHRN AR
IR OR SRATBITR G ST FERCZ |

100) If 5% is gained by selling an article for Tk. 350 than selling it for Tk. 340,
the cost of the article is -

A 2 5% 9 T = 350 — 340 = 10
. 100% 93 §1d = (10/5)x 100 = 200 T |

TR IR G TR RIFT fd 11 [FFRasT acsy \SaRsiKs a3 fies fofRt F=eds live.hellobcs.com


https://play.google.com/store/apps/details?id=com.hello_bcs.live_exam
live.hellobcs.com

